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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [["I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, ’'optETcl’],

"LAI",

" optEtRate’ ]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-5 0
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P3-5

BfiE) | EBATK (R | EHME (EARA/HK) | ERERE (B/R) | XK R
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FRV (ml plant-1)

ET (ml/hr/plant)

P3-5_0, Day=69 (2025-06-06)
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P3-5

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS R
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m=805,n FV0=0
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P3-5

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

08:35 273 150.0 2.583 5| {Rig@08:35 B (KRAMERSE)
09:15 273 150. 0 2.583 E BRi&e09:15 Bz (GRAERRE)
09:55 273 150.0 2.583 F  BRi1%e09:55 BE1 (RAERE)
10:35 273 150.0 2.583 =l {Ri%@10:35 B3 (RAERSE)
11:15 273 150. 0 2.583 El BRige11:15 Bz CGRAERESE)
11:50 273 150.0 2.583 S {Ri%e11:50 Bz (GRAERSE)
12:30 273 150.0 2.583 = {Rig012:30 B3 (RAERSE)
13:20 273 150. 0 2.583 E BRige13:20 Bz (GRAERESE)
14:05 273 150. 0 2.583 E| {Rige14:05 B3h (RE{ERLEE)
14:40 273 150.0 2.583 =l {Rig014:40 B3 (RAERSE)
15:15 273 150. 0 2.583 E BRi&e15:15 Bz CGRAERESE)
15:55 273 150.0 2.583 5| {Ri%e15:55 B3 (RAERSE)
16:40 273 150.0 2.583 =l RRiB016:40 Bz (RFAEESE)
23t 3549.0 (13%) 1950. 0 3Z U KEC: 2080.0, PH: 6.0

#H[EKECE (1780.0 vs 3670.0) i d 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-5_0, Day=67 (2025-06-04)

Bf————f————Ff————f—— ————— — —
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2816 - 3000
2400 400 -
100 + 1984 =
1700 g7g 2000 ©
381 E
50 1 - 1000 &
96 Warning: lcol [FVI',| "FVO’'] missing 60
0 + -0
200 4w vi —— ME P50.0
FRV maxM
I e e e I\ ‘ —N B e T ——————————r Eer—— - 47.5
wA I.IJI
HIRERNARAIARIN
50 - . P I L 42.5
1.0 40.0
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 t
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
. _ _ _ 4
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00{ F5 [ M [R5 [R5 | R5 | A5 | A5 | F5 | F5 | Fs | F5 | A5 | BF | BF | BF | BF [ RE [ RE [ BB [R5 [R5 [R5 [ RS | RS 3000
1 c
ByWoFv :@D69 01:53: ET=1676 Fg=1950.0 Ro=443.0 %
200 - I - 2000 >
1 E
! —
100 - : L 1000 &
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1.0 ) ] 0
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0.4 1
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800 1000
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T
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46 -
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m=620,n FV0=0

49 ~
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47 -
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T T T
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48.0 -
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P3-5

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

07:05 300 150.0 2.583 5 B21%@07:05 Fzh (KPEREE)
07:50 300 150. 0 2.583 5 ’Ri%@07:50 Fzh (KAERESE)
09:10 300 150.0 2.583 5 B31%@09:10 F3zh (KBEREE)
10:00 300 150.0 2.583 i B2i%@10:00 Fzh (KPEREE)
10:45 300 150. 0 2.583 & ’Ri%e10:45 Fz (KAERSE)
11:25 300 150. 0 2.583 5 BRi%@11:25 Fzh (KRAHERSE)
12:05 300 150.0 2.583 5 BRi%@12:05 F3zh (KBFEREE)
12:50 300 150. 0 2.583 & ’Ri%e12:50 Fz (RAERSE)
13:45 300 150. 0 2.583 & ]Ri%@13:45 F 5 (KAEKSE)
14:30 300 150.0 2.583 5 Bi%@14:30 F3h (KPIEREE)
15:20 300 150. 0 2.583 = RRi%e15:20 Fz (GRAERSE)
16:05 300 150. 0 2.583 & BRi&@16:05 Fz (GRFAEREE)
17:15 300 150.0 2. 583 B FiTe17:15 Fzi CGRAEERESE)
=23t 3900.0 (13%) 1950.0 3ZHKEC: 2080.0, PH: 6.0

RE X B TRECHUR B oK.

#[EKECE (1860.0 vs 3647.0) 35
RER B HEREC/PHIE Rk, AT RERNIHRELR SR




FRV (ml plant-1)

ET (ml/hr/plant)

P3-5_0, Day=66 (2025-06-03)

ET (ml/hr/plant)

ET (ml/hr/plant)

150 Fo—————F——————F——————F——————F——————F——————F——————F-—————f——— - f———_—]
VI, V@FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1984 | 000
1700 6 §3
100 1300 1342 - 1500
F 1000 ~
50
- 500
0 Warning: lcol [FVI',| "FVO’'] missing 96
0 + -0
( K50
200 A
[ 48
-
100 4 [ 46 =
L 44
1.0 42
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 ¢
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
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ByWon:@DGQ 01:53: ET=1531 Fg=1950.0 Ro 403.0\/ @ & s
- K11l :
1
100 : = -1000%
>
1 o
o=tk —e—_e e \¥\ 0
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m=435, FV0=0 m=530, FV0=0 m=585, FV0=0

—8— ME —o— ME 49 - —o— ME 49 - —e— ME
49 - 49
48 - 48 A 48
48 -
47 1 47 47 -
47 -
46 -
46 1 46 -
45 46 -
45 -
44 - 45 - 45 1
44 -
T T T T T T T T T T T T T
400 600 800 1000 435 440 445 530 535 540 585 590 595
m=635,m FV0=0 m=680,m FV0=0 m=720,m FV0=0 m=765,m FV0=0
49
—o— ME —o— ME —o— ME 48 —o— ME
48 - 48 -
48 -
47 -
47 - 47 47 -
46 - 46 - 46 46 -
- _ 45 -
45 45 45 4
44 L T T T 44 T T T T T T 44 T T T
635 640 645 680 685 690 720 725 730 765 770 775
m=815,m FV0=0 m=865,m FV0=0 m=915,m FV0=0 m=970,m FV0=0
48 - —o— ME 48 - —— we | 41 —o— ME 48 - —o— ME
47.0 -
47 - 47 1 47 -
46.9 -
46 i 46 - 46 8 T 46 _
46.7 -
45 - 45 - i
46.6 - 45
44 - 44 - 46. 5
815 820 825 865 870 875 922 924 926 928 970 975 980
m m=435,m FV0=0 m=530,m FV0=0 m=585,m FV0=0
2957 o mw —— MW 3004 —@— MW
29,0 29.5 -
29.5 -
28.5 - 29.0 -
28.0 - 29.0 -
28.5 -
27.5 -
5 28.5 -
28.0 -
27.0 -
T T T T T T T 27 5 T T T 28 O L T T T
400 600 800 1000 435 440 445 530 535 540 585 590 595
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29.

29.

28.

28.

30.

30.

29.

29,

28.
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29.
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—— MW
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T
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P3-5

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R

08:05 273 150. 0 2.583 E  1BRi&e08:05 Bzl (RAEREE)
08:45 273 150.0 2.583 5| {Ri%e08:45 Bz (FRAAMERSE)
09:40 273 150.0 2.583 = RRiB009:40 B (RFAEEE)
10:25 273 150.0 2.583 =l RRiB010:25 Bz (REAEEE)
11:15 273 150. 0 2.583 =l Rige11:15 Bz (GRAEESE)
12:10 273 150.0 2.583 =l {Rige12:10 B3 (RAERSE)
12:50 273 150.0 2.583 S| {Rige12:50 B3 (RAERSE)
13:35 273 150.0 2.583 |Z=| {Ri&e13:35 Bz (REAEZERE)
14:15 273 150.0 2.583 (Z=| 1Ri&e14:15 Bzh (RAERSE)
14:55 273 150.0 2.583 (£ =| {Ri%e14:55 Bz (REAERSE)
15:35 273 150. 0 2.583 |Z=| fBRi&e15:35 Bz (RAERESE)
16:25 273 150.0 2.583 (Z=| {Ri%e16:25 Bz (FRAEHSE)
24t 3276.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

R GERRETC (600) 57EA (278. 0) 1N, Al REH T % AREERS %2 X ER
2RI\ L PRIERE324. 0 ml.
#[EKECE (1907.0 vs 3923.0) 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-5_0, Day=65 (2025-06-02)

T e g g e S S B Sy
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100 1300
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192 Warning: lcol [FVI',| "FVO’'] missing 0

400 -

- 40 =

- 35
4
Warning: lcol ["WC1',  "WC2'] missing
optEC0=2600. 0, setECB=2080.0 t
Warning: lcol ['ECB’,| 'ECC’'] missing
optPHO=6.5, setPHB=6.0 t
Warning: lcol ['PHB’,| 'PHC’'] missing
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: - 2000
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1 - 2000
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m=520, FV0=0 m=5395, FV0=0 m=660, FV0=0
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